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(5B wHOID P Ede el / Tamil & English Version)

[ Qurss wHuGuemsar : 70
[Maximum Marks 70

sre e : 2.30 wewfl GCry |
Time Allowed : 2.30 Hours ]
Sfeyersst : (1) Smasgy lamsseEpd slurs LHeurd o ETETST 6T ETLISEm &
sfluriégé QsmererawD. oEsiLdelad Gapudmuibien S|ODE
sarsreftiurari_b 2 Languras Asfelsse,w.
2) B Soagm smUY @wlbleear L @CL TWSHUSHEGL
=i 5CaTg Peugp@Ehd LRSS CaiamHLo. LLRISET auanTeUsm (@
Quendled LweTLhSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@&y : UGS -1 (2.l@M-greureliwe), ugd -1 (2uilfl-aleomdue) safl gz ef
feLggrefic e weflGgEeyLd.

Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate
answer-books.

u@S - 1 (2-u9f - sreureilwev) / PART - I (BIO - BOTANY)
(wduGuemrser : 35) / (Marks : 35)
19fey - I/ SECTION - I
Gy : () Siwesg amEsEnsEEL e weflEsayib. 8x1=8
i) Qar@ssuulperer wrHmY eleLsefiier Waayd eThHyeL W
o ows Csipds0586 GO QL el ulamanyd Csigg)
T(PHEYLD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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Ch 2l a DO D
OO NADPH ¢ ciarnf]
() Y ATP Y2 NADPH
(@) 2ATP42 NADPH
For every (¢ ), molecule

) o . p ATP
padanm CO, 0L VS B0 1 (6TH 5 GLD Gﬁmmuu(gw
Aens,

(<24) 3 ATP+3 NADPH

(%) 2 ATP+3 NADPH 4
i entering the Cy cycle, the number of ATP and NADPH require
)" 3 ATP 42 NADPH

(b) 3 ATP+3 NADPH
() 2 ATP+2 NADPH

(d) 2 ATP+3 NADPH

o0 '%lfbﬂ(ﬁmnduQuﬁtb QHQJIJMGBT gg_ba)mmlq,u_j @Ggrr(:mrr@&ﬂ'tb CTRTERTENG
M TS spar smayan fsei o drer @GymCionGer: eanalins 7
a2 (<2) 28 (@) 7 (r) 14

I.l the haploid. number of chromosomes for an angiosperm is 14, then the number of
>h.rnmosomu N its endosperm would be .

(@ 42 (b) 28 (© 7 (@ 14
Qeusediaef Bsyeay R8s GELLSSE LIGRTUT@LD :
(a) QsrarCGens) (=) Grred&ECsd (&) -CuCued
Vexillary aestivation is characteristic feature of family.

(@) Solanaceae (b)  Brassicaceae @ Fabaceae

(F) el Cred

(d) Asteraceae
ﬁmm@mmmﬁ)gdr SloGumi’_anL GHLLg ergy ?

o

(o) | (<) (@) )

(0] o o

~

s} o o o

Which of the following represents symport ?
0 0o o o
S

\

@ | (b) (©) @

0O [§) o0 (¢]

(8] (o]
(o] o
o o)
(o] 8]

WWW.QB365.IN
Scanned by CamScanner




http://qb365.in/ https://www.qb365.hARdEAAs/

3 1477 (NS)

B TME &1 (LD

N
,\[I" \
urevCuil. 5-&mruen
PO FN&HI

CupsTapib ey T GhsHng ?
(=) urdBlwseACuren (B (<=4) BCarm yjuilevid
(@) AwsefiCurens® () PysaiCureL®

Nitrogenous base

group sugar
The above structure represents a .
(a) Polynucleotide @ Amino acid
() Nucleoside (d) Nucleotide

6. Gawed ugllded @55 GGrrGorGsrbaar Ggrg Cergeme @eueumrn)
SADPSFHOMD ?
(=) Gyl () HarB(bae (@) @riergar (m) SHerriidlev
The pairing of Homologous chromosomes on Meiosis is known as :
(a) Disjunction (b) Synergids (c) Bivalent (@) Synapsis

7. gaflsGsisema Caufser eréled sremiLBEng ?

(31) eumeRTL T (<) eL_CermeGuimym
(@) savdlyyLm (r) eflenad
b Photosynthetic roots are seen in : |
(a) Vanda @ Tinospora
# (c) Cuscuta (d) Viscum
:“ P [ wliys / Turn over
%
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8. Qurmsas
(1) Qur Crflug (i)
Q@) Quaatfiuy (i
) eoprgen (i)
@) urevupen (iv)

() (1)), @)-Giv), 3)-Gii), (4)-(i)
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G seuay, Lrphiser, Hlusefls SiflQm&eT,
ATP gy flweuphlen LU Qumper

Hrgmser, fudefs e sdr, auﬂfﬁmrr
Sleotsaflan s wedu LEGH Qurwer

Q&6 e 6t saugphureued Fper WwHHLD
sflopiuywsssas SLALUUBSSLD

u&esw Bpfluder UGEasmprs @g e eTerg)

—pe_r P

(<) (1)-(iii), (2-(id), 3)-(i), (4)-(iv)

(&) (-Gv), (2)-(ii, (3)-(i), (4)-(i)

() (1)-Gi), (2)-iv), (3)-(idd), (4)-ii)

Match : g
(1) Potassium © (@ Constituent of cell membrane, Proteins, Nucleic '
acids, ATP 1
(@ Magnesium . ) Besential component of Proteins, Nucleic acids, ‘
(3)  Nitrogen - (i) Maintains osmotic potential and turgidity of the cell q
1_‘ (4) Phosphorus - (iv) Constituent of chlorophyll
t @) W)-(id), @-v). @), @)-G)
®) (Wi, (2)-Gi), (3)-G), (@)-(iv)
(©  ()-Gv). (-(i), (3)-(iid), (4)-()
(d) (1)), 2)-(iv), (3)-(ii), (4)-(ii) ]
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Slfley - 11/SECTION - II

sremeuGuignd THebT(g, a‘ﬂmur&a@&,@ eflenL_wiefl&&HeL. 4x2=8

Answer any four of the tollowing questions.

9. (&) UQerEGLravied CTEIDTE) 6Tt ? gt THSHEETH S([HS.
() BSHCUTDAUTDS Ers @D, @ nGaram@uibsEsed Gt
sreTULEWL Curgll uarysafa TG QeTenD 6T (PSS
(@) What is Plectostele ? Give an example.

(b) Mention any one character shared by gymnosperms and angiosperms.

10. @eaudlar e uafllsmer L gL @Hs.
List the primary functions of Leaf.

1. yu Gsd@e 2 Barsgn Ggrorzdurar fapelhE Gad DS e
Quur. GQ&e &QQDQU&]&T QJGO')II[_H_‘Q',G[)‘Q; &(HS.

A series of events leading to the formation of new cell is known as Cell Cycle. Give the
diagrammatic view of Cell Cycle.

12. Qemau@pd UL Esealen Guwigmer GHIGHS.
Name the following diagrams.

13. gray Qeasaie srariu@d Warmeuwr Amgeilan cumssmar GHILINHS.
Mention the different types of plasmolysis seen in plant cells.

1. spod gofl ursvufsramd LHMID &paT gafl urevufaramd < &weupler
@ar_Cuiwren Geugur®aer Graiig.emer DL L auementIL(H5S)5.
Tabulate any two differences between Cyclic and Non-Cyclic photophosphorylation.

B [ ®Uys / Turn over
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:
fley - 11I/SECTION - III
- i 19-6&
semaCugyn epenp arssEns@ elenLWell&sa|L0. ofilemr eT & 3x3=9
sl weflliug L rwwrg.

Answer any 3 questions. Question No. 19 is compulsory.

15. @0 @LAwenuier amssmar aHgEsT HLar laTEGS.

Explain the different types of placentation with example.

i 16. (=) ew GLraramg lugdHer Sewlieuls UL a@FBg LITELD @G Pl&HaLD.

(<) @wl GLrasrarmy Awr “Qededar < Hne 2 MEET" e SDPEEILILE
STTERTLD Wwing ?

(a) Draw and label the structure of Mitochondria.

! (b) Why Mitochondria is called as ‘the power house of a cell’ ?

17. @m wrsdar GNsGU DS Carhmsded sramiu@b GQurg eww
QUENETILIBIGET, eueTT&s] euenaTmISET T ILREMG). cueTidd) cuaETWRIGETL]
udDd UglIuger PSS LUSSHEIBIEET WTeney ?

A transverse section of the trunk of a tree shows concentric rings which are known as
growth rings. What are the significances of studying about these rings ?

18. (=) seurs elldlgsdnsrar eumiur® wrg ?

(=) QuanGLmev SurevGul afissLsan P&dwggieud Qrerg e
TS5

(a) What is the formula for Respiratory Quotient ?

(b) Write any two significances of Pentose Phosphate Pathway.
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9. (<) & GO Heren FLOGITLIN (e, Freuysdeyerar enplymen siphalenw

GDSE g

3 q
() 2NHy' +30, 120, 5y - 2H* +2H,0

() 2Ny +0, LWL, 5y -

iy ®P-CI- -lal, CPeEEn @ L Teger
[NOy ] [Ns]
Gmm&n@m aﬂmma;@g;@é; sryenrorer Urseflursser [, (<] (@]
erer @DISSLILLDeteng). waumdler QULfsEamaT GOUAHS.
() opLrgen Hésn - QUGN TWIMI&G&HELD.
(@) eoprrgen Hlevatlnssss s Gaameuwirer QpBrd wrg ?

(a) T}w equations given below represent the different stages of Nitrogen Cycle in
plants.

(1) 2NH3+ + 302 iAL]—) 2N02_+ 2H++2H20

(].l) ZNOZ— + 02 —LB]—) ZNOB—
(i) Nitrate —[i) Molecular Nitrogen
[NO,”] N,)

In the above equations [A], [B], [C] indicate the bacteria which is responsible for

the reaction. Name them.
(b) Define Denitrification.
(c) Which enzyme is required for Nitrogen fixation ?

Ylfley - IV/SECTION - IV

SmeTSg NaTESH@EREED e waflésa. 2x5=10
Answer all the questions.

2. (@) (i) Oreiorid prieLd FTTbHs @HSS e Trar Solevigwenm &b
eramueui urseflumsmer Caupu@sds sTLHb FrwCuwomb
pepow WPHEPSHl® 2 arddearmi. Hrrnd srwGohmb
wenpuflen LigblamaEEeT 6T (LS.

() e opsed eaurevsar wHmn AGUT meyevamen rHSHESTLH-
sepLan GoumubhSSIS.
D|EVEVG)
() wyavalwd S woflen LGUSEET LT QUEnTLILSEIL 6 efleufN&say.
(@) (i) A Danish Physician, Christian Gram developed a staining procedure to

differentiate bacteria. List the various steps involved in that procedure.

(i) Distinguish between Deoxy viruses and Ribo viruses with example.
OR

(b) Describe the Floral characters of Allium Cepa with a neat floral diagram.

B [ H@Lliys / Turn over

WWW.QB365.IN
Scanned by CamScanner



F L

http://qb365.in/ https://www.qb365.in/materials/
1477 (Ns)] 8

S Qeauier e drerenlienu UL LD auerpg UTsD Glésea,wh,

@ Qereumin urGRE sHenpsafien QUWTEMeTS Sagis.

MEGLD

o oyGemmuwitb

o s Garmuih

MFLD

(=) @) DELCLTen s el gy

. UTpedlwe .
S samar — PAUWO allamerasafig TCH e 1d e

@ sl utiusenn -

euenrwImy.
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{ D ,
(a) (i) raw and labe] the Interna| structure of Nerfum leaf.

(i) Name the following Vascular Bundle

XYLEM

PHLOEM

PHLOEM

XYLEM

OR

(b) (i) Write any four points regarding Physiological effects of cytokinins.

(i) Define Vernalisation.

Day
660 nm

P, Py

Night

In the above representation, what does P, and Py, stand for ?

[ #wuys / Tumn over
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UGS - 11 (29 - efNeoriudlsd) / PART - I (BIO - ZOOLOGY)
(oHUQueraer : 35) / (Marks : 35)

Yifley - I / SECTION - 1

GBIy : (i) SIS sﬁlmrréas@é;@m eflen_weflgsa,Lb. Sx1-
i)  Qsr@&siuu @erar wrom e sefler Wsa|b "T,ﬁ’l"m.lfm
SflenL_enwig, CorplsBssis G HLer el Wamann Ceigs
TPSa, .
Note : () Answer all the questions.

(i)  Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

L 2l@riyg dpen TeILIg) :

(1) RV+ERV (<) TV+IRV + ERV
r i
- (&) TV+IRV () TV+ERV
Vital Capacity is -
(@) RV+ERV @) TV + 1RV + ERV
(€ TV+IRV (d) TV+ERV

() Bridy senss Geriey
(@) Blupsemenupn <yeflFans Qewe
() Bupserar oeflFams CFwé

When a cockroach tries to enter into the ear of a slee
. PINg person, whj
following process will start ? &P which one of the

(a) Stimulation of negative feedback mechanism
P Neuro muscular fatigue

(_Q} Unconditioned reflex

(d)

Conditioned reflex

5 WWW.QB365.IN
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1
3. Spaunamapmer aps geny sfwner Gamenr ?
(1) SWOBTL{H @embd

fufemev srmQCGuir

(=) FUGEOEST - R
(@) veQuyE aueriy - LCrrCumellen
(F) speneu Glemd - roed

Which one of the following is correct pair ?

@ Exotic breed - Cyprinus Carpio

(b) Apiculture - Reeling
[(c)  Sericulture - Propolis
(d) Milch breed - Malvi

4. urgiiguier ApLc.rrafiier QanenGa suemerey @omaCwalie, Spssamr erbs
Hlevavenw erdlir LTT&sMD ?
(=) Sppr, BEHS <LTe|m wsrs E)maEE0D
(<) b Bisgs sreriiLBD
(@) Ambr 2 (Heurssid merL @UDTE
(m) emeaurssiul L Apffler srb wHNL AeTelld eTHg LIHPPL Geoena

If Henle's Loop were absent from mammalian nephron, which one of the following is
to be expected ?

(@) The urine will be more concentrated
@ The urine will be more diluted
() There will be no urine formation

(d) There will be hardly any change in the quality and quantity of urine formed

5. saslapulen esl GLmlerTad eraiL(LD.
(1) enGuirerLafe (gp) sri&CamAerreaid
(@) sri&Camblum () err&GasrQebor

The cytoplasm of the muscle fibre is called :

(@) Myofibril 4B)/ Sarcoplasm
(c) Sarcomere (d) Sarcolemma
B [ #®LUys / Tumn over
\
A
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6. WwuCumes Garlur® erpssé @pedemmed wpen Qumfluitiul L g ?
() Caauellwir aviflg (<) RH. e L&
(@) sCrrasy eerGamnuen (/) &mied Gaumula
Three domain classification was proposed by :
(@)  Cavalier Smith (b) R.H. Whittaker
()  Carolus Linnaeys @/ Carl Woese

AEGL Yéflepy, upBlw gophpisefe g afl ?
0 : Co .
| . @jfﬂTﬂWﬂlu PLOL Femenwowerar, 2N CFdgid CeflésErenw i
; STRUDLII 2 flcha j i ' '
F suerirdl et e DIERIS srourg s DRSS T
g i) siréams gen 2L além Qemgduden OGTES sr&dlanng
i (V) DT oy s .
! o élfras@r,uld,&eﬂ 2fls sarefle) ATES 2 PusHsEs &Mremordng
=) (@), () & (iv) (<) (), (iti) & (iv) &
‘(N@;li) Ch(1), (i) & (iii) &M (/) (i), (iii) & (iv) &M
. of the statements regarding lac insect is Trye ?
(i) Microscopic resinous crawling scale insect |

() Inserts its proboscis Into plant tissue, suck Juices and gro
(ii) Secretes Iac from the hind end of the body o

o ®) (i), (iii) and (iv) o,
() () and (i) are correct (d) (&), (iid) and (iv) aree‘z:t

8. &pssam_aupper T8l F5TSED Bleveney 2

(1) g liggm
( .
(®) GG e n %) @endlséin

Which of the followin
8 18 not Present in th,
W Dipe o
Primata secta
N @ (d) Orthoptera
B
. '» ; - - i e
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Wfley - II/SECTION - II

semaGuEID BrenE CsomalsensE Lbaaissay. 4x2=8

Answer any four of the following questions.

2 LG Sl BigliumL e clekigsmar aumaliLBESS.

Classify the animals based on the body cavity.

welgafer Qréss Gwmien s LEHIO sramILBL HHEGSET Wrene ?

Name the layers found in Human Blood Vessels.

b Wilwree oI Asremepeudaome, ame B oLl wilur e puss
Qeiwiu@dng. ergenmmed ?

We are not consuming urea. But in our body urea is produced. Why ?

gens e gdenr CararTnsemar UL Igwe(Hs.

List the disorders of muscular system.

&M eT@INe HFHE FL S LD 2 @EGSS Qgfluyom ? sred ergbiGlen epemy
Qeamiyl uGHsamer 6T (pgIs.
Do you know your lower limb segments ? Write the 3 segments of lower limb.

<j_fandr srudufer apenm LIGESMET 6T(PFIE.

Name the three zones which are present in Adrenal gland.

[ $imliys / Tumn over
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Sfley - 11I/SECTION - III

TeaCugn e efleamss@nss eflenwellbsaybd. 19-eugl aflemmelp
SLLmuwns Uﬁmqﬂssa"m. 3.,

Answer any three of the following questions. Question No. 19 is compulsory.

15. .
Asrad DNmedlL_mreneuub Qsred sanssrdamanyb @UIABE.

Co i
mpare the anatomical features between Phylum Annelida and Arthropoda.

16. g : . . . .
Tuurer y&flser erer Comis sLggser eTen AepssLL(Eeamer ?

Why do we call cockroach a vector ?

17, : L .
7. 8y gLade B®EGD 2 Herdser eren Qarieoudsd Qaome ?

y, villi present in the Intestine, are not present in the stomach ?

18. Gsmfl eueriin9er Lwerser LD eT(pgs.

Enumerate the benefits of Poultry Farming,

19. Gl A spo9 “Brerbledenms '
' wrE &riidsefle ' ’
SR EBLIL G, o 1 T ATF"" T Qurgleurs

Pituitary gland is commonly called “magter gland” of the body. Why ?
. y ?

- - i WWW.QB365.IN
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20.

21.

15 1477 (NS)

Wfley - IV/SECTION - IV

NG G NEsEnEGD eflan wialldse, . 2x5=10

Answer all the questions,

yoreflen o @@, QAsrEd WwHHL UEGL®L 6T(PFHIS. Lpereusetied sTerTLILIBILD
UDUUSDE STHSOTET LIRS 6T (SIS,

3|6V608)
BLD @gﬂugpﬁld} D _GTe BTEN(E BanDEH(EHLD Qp@mmu_lrraal'_l QWA&sLUL_(HeTere.
Qsere ysalgar QararL @rssd pselLearHD Q&S5 L6
sotufome. QsaLea QsTLiyaLw @Qrlaml & sHECDTLL s G

Write the kingdom, phylum and class for Pigeon. Write the characteristics of birds that
are suitable for flying.

OR

In our heart, all the four chambers are completely partitioned. It results in

non-mixing of oxygenated blood with deoxygenated blood. Explain the double
circulation related to it.

ufley prioy waTL@sHnEL Qeear ufley Brioy waETLOSHEGW
Qe Guwren Gaumum_qenar efleufl&sayLb.

360608

sgropoL Qaldumsssdeo GopGsrdaeariu@n uodGaum Ggmhd
B uBsmers LD eSleurdéseab.
Differentiate between sympathetic and parasympathetic Neural system.

OR

Discuss the various techniques adopted in cattle breeding.

-00o0-
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